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READ THE ENTIRE EXAMINATION BEFORE YOU START SO THAT YOU
DISTRIBUTE YOUR TIME APPROPRIATELY.

PART I. True-False Questions. Two (2.0) points for each correct answer for a total of 10
points.

1( ) BBAREE TUARERAETEALOABENAN » K5 F T &/
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PART II. Multiple-Choice Questions. Select the best answer. Two points for each correct
answer for a total of 28 points.
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11 ( )  We often assume, incorrectly, that the programs we design will: (A) Be
sustained (B) Improve our target individuals, groups or communities (C) Cost
very little in time and money (D) B and C (E) A, B and C.

12 ( )  The Director of Bureau of Health Promotion, Department of Health, in
Taiwan is: (A) Dr. Sheng-Mou Hou (B) Mr. Yi-Li Chuang (C) Dr. Hsu-Sung
Kuo (D) Ms. Mei-Ling Hsiao (E) Dr. Chien-Jen Chen.

13¢( ) To demonstrate the one variable “causes,” or “predicts,” or “explains”
another variable, the researcher: (A) Performs a statistical test for causality
(B) Rules out alternative explanations (C) Demonstrates that the two
variables are associated (D) B and C (E) A, B, and C.

14 ( )  What would never be the target of an intervention program in community
health sciences? (A) An individual (B) A social group (C) The RNA in a cell
(D) A community (E) A state policy or law.

PART III. Matching. Different types of hypotheses or research questions are listed below.
Decide which type(s) of hypotheses or research questions are being described in each
statement. More than one “match” may be necessary in order to correctly describe each
statement. Two points for each correct answer for a total of 12 points.

A. Null
B. Causal/explanatory
C. Associational/descriptive

1. Increasing fruits and vegetables in the diets of elementary school students
will not reduce their anemia.
2. Increasing access to health services does not lead to a longer life.

3. There is an inverse association between eating protein and the amount of

time people exercise each week.
4. Whether or not you like carrots is related to the number of carrots you eat.
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PART IV. Short Essay. A total of 50 points.

1. The Health Department reports a significant and troubling increase in obesity and
overweight of elementary school students. What are the determinants of this trend? What
interventions at a program or policy level would you recommend to reverse this trend? (10%)

2. BEMFRGPAMAERATLMA  ERELFERIKRHZ NGB ELEMTFH B
BrAR Y WRARAT R - Aide o (1) RAEZMBEHRREEHNE  (2) SH&AEE
Bioaie RLFEHRE - (20%)
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